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Warning and Disclaimer

Every effort has been made to make this book as complete and as accurate as possible, but no warranty or fitness is implied. The information provided is on an "as is" basis. The author and the publisher shall have neither liability nor responsibility to any person or entity with respect to any loss or damages arising from the information contained in this book or from the use of the CD or programs accompanying it.

When reviewing corrections, always check the print number of your book. Corrections are made to printed books with each subsequent printing.
First Printing:  December 2013
Corrections for November 3, 2014
	Pg
	Error – Second Printing
	Correction

	78
	Chapter 3, Second Sentence in top Paragraph

Reads:

A different system, one with a 16-bit int and a 32-bit long, could define the same name, int32_t, as an alias for int.
	Should read:

A different system, one with a 16-bit int and a 32-bit long, could define the same name, int32_t, as an alias for long.


	471
	Chapter 11, First Paragraph, First Sentence

Reads:

The expression mesg + 39 is the address of mesq[39], which is a space character.
	Should Read:

The expression mesg + 39 is the address of mesg[39], which is a space character.


Corrections for October 7, 2014
	Pg
	Error – Second Printing
	Correction

	782
	Chapter 17, Last Code
Reads:

/* Program done, so free allocated memory */

    current = head;
    while (current != NULL)

    {

         free(current);

         current = current->next;

    }
	Should read:

/* Program done, so free allocated memory */

    current = head;
    while (head != NULL)

    {

         current = head;

         head = current->next;  

         free(current);

    }


Corrections for September 22, 2014
	Pg
	Error – Second Printing
	Correction

	419
	Chapter 10, Second and Third output

Read:

       zippo[1][2] = 3

*(*(zippo+1) + 2) = 3
	Should read:

       zippo[2][1] = 3

*(*(zippo+2) + 1) = 3


	446
	Chapter 11, Listing 11.3, Second line

Reads:

#define MSG “I’m special.”
	Should read:
#define MSG “I’m special”

	446
	Chapter 11, Listing 11-3, Here’s the output from one system:

Reads:

address of “I’m special”:
0x100000f0c

                        address ar:
0x7fff5fbff8c7

                       address pt:
0x100000ee0

              address of MSG:
0x100000ee0

address of “I’m special”:
0x100000f0c
	Should read:

address of “I’m special”:
0x100000f10
                       address ar:
0x7fff5fbff858
                       address pt:
0x100000f10
              address of MSG:
0x100000f10
address of “I’m special”:
0x100000f10

	446
	Chapter 11, Third Paragraph, Third Sentence

Reads:

Second, although the string literal “I’m special.” occurs twice in the print f() statements, the complier chose to use one storage location, but not the same address as MSG.
	Should read:

Second, although the string literal “I’m special” occurs twice in the print f() statements, the complier chose to use one storage location, the same address as MSG.

	446
	Chapter 11, Third Paragraph, Fifth Sentence

Reads:

Another complier might choose to represent all three occurrences of “I’m special.” with a single storage location.
	Should read:

Another complier might choose to represent all three occurrences of “I’m special” with separate storage locations.
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